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Y.U: Gongitionadd Frabxloiuties
lebk A el B be Ewo events :
° The Condibonal nrobabnlda :;_A given B is: 1518 CopWisn

6.0 B
Al B = PCAAE
= P(B)
* The Congibonal Rebly <+ B given A is:

RBlAa = Pla NB)
PCA)
® The Cvets A ad B o ivdRonde it:
p(ANB) = PCA).B(R)
olaerwise, they Ove defendent

*If A od B are indepondent, then

PG IR) = P(ANR) - _©A) PB) = P(A)
P (R P(B)
DCB ) = OC)

eTre cvents A ot B are mitwlly exclusive i$e
PCAN®I=6 2 50555 [froudls

#hampo: Suppse Tk we Wove GWo evenks A ad B, witw
PAYz0.2, Pz 0ou, P(ANB): e-0%3

[a] fd P(AIB) = PCAAR = o2 = o2
PCR) 6

bl Fd P(BIA) = 2CANB) - o8 = o
P(4) oz

Are N wwd B im)epeuﬂe&? U\)ha &€ U\W\n wok ¢
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Yes , beawuse Pal® = DAY PO P
PCRIA) = P(B)
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A Tvdepeel  evants:

* A, B ome independet if:
Pcfﬁ;) =pP(A)
P(R]A)X- P(B)

¢ A‘z B Mme im,ePthoJ* P
Pla NRY= 9CA) . PR)
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G
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PR v R =P +PR)-P LANR)
O-F& =o0.6x0.4- P(ANR)
o-2M =Vsud -4 S

* PLANBI: 62U £ 0 amp Nt wdwlly exclise
0-2u=(o0.9). (o0-6)

A{g o iml-?endd'
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AB cwe indepudet %“"B

P(ANB) = PA) .PR)
= o. €69
PCAUR) = DXa) +&CR) —e(ANE)
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